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 ��� ��"�#

ω0 → ω, ����

����� 
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	 ûr 	
� π

2 ≤ ϕ < 3π
2 . ���� ����� ����

�	 
�� ������� �
 �� �
������ ��� ��
� 
	 dV (r)
dr 	
� −π

2 ≤ ϕ < π
2 � ���� 
�� ����

������ �� ����
 ��
����� ��� ��
� 
	 dV (r)
dr 	
� π

2 ≤ ϕ < 3π
2 . ��� �
��� ���� ���

������ 
	 ��� ���� ��� ��� ���� 
���� 
	 ��
������ 
	 ��� ������ 
	 ��� � !��
��� ���� ����
� �� � �
���������� ��� ����� ��"������ ������� ��� ��
 �������
�� ��� �
 ��� 	��� ���� ��
 ��"����� ����
#�����
�� ���� ���� �
 
����� �����
��� $��� �� %����
� & ��� ��� �������� 
���� ����
#�����
�� ��� ���
�� �� ����
%����
� �� ��� ��� 
	 ��� ����������� 
���� ������
�� '� ��( ����� ��� �#�������

	 � ��������
� 
	 ��� �������) 
����� �� *���
���� 
�����( �� �
�$�����

+
������ ������� ��� $��� �
� ��� ���
�� ������ �
���� ���� ��� 
��������
��
�� ��� %
��� %(����� ,�� �� ����( ��� � !� �
 -�����(� ��� *.%. 
/����
���� ��� m � 3.3 ∗ 1023Kg 0&12 ��� M = 1, 99 ∗ 1030Kg 0&&2� ����� 
�� $���
�ϕ � 5.21 ∗ 10−7������� ��� ���
����
�� ���� �
�����
��� �
 ��
�� 0, 107
������
���� ��� *.%. 
/���� ���� ���
 
��� ��� -�����(3����� ����
 
	 ���
��
����� 
���� ����
�� �� ����
 0.241 0& 2� +����� 
�� $��� � ����� 
	 44.39′′ ���
��
����� ������(� ���� ������ ��
�� � ����� 
	 ��� �
��������
� 
	 *���
����

�����( �
 ��� ������� 
	 ��� ��������
� 
	 -�����( ��� ��
����� ������( �����
���� ����
#������ �
�� ��� 
��������
��� ����� 
	 43′′ ��� ��
����� ������( ���
��� ����� 
	 ��
�� 42, 98′′ ��� ��
����� ������( 
	 ��� 
������ ���
�( 
	 ���������(
0�2� ���� �� � ���� �
���������� ,�� �� ����( ��� � !� �
 ��� ���4���
�( 
	 5�����
��� ������)� ���� �� mV � 4.87 ∗ 1024Kg �� ��� *.%. 
/���� ���� 0162� ����

���� � ����� 
	 �ϕ � 7.68∗10−6 ������� ��� ���
����
� �
�����
����
 �
 ��
��
1.6 ������
���� ��� 5���� 3����� ����
 
	 ��� ��
����� 
���� ����
�� ������� �

�� 0, 615 0162� ����� 
�� $��� 258, 16′′ ��� ��
����� ������(� ���� �������  !
����� ���
�� ���� ��� ����� 
	 8.62′′ ����� ������� 	�
� ��� 
��������
�� 0&�� 172�
'	 
�� �
������� �����)� ���� 
�� $��� ����


�� �������� ��� �����)� ���� ��
m � 5.97∗1024Kg� ���� 
���� � ����� 
	 �ϕ � 9.42∗10−6 ������� ��� ���
����
�
	
� ��� ��������
�� �
�����
����
 �
 ��
�� 1.94 ������
���� ��� ����� ���
���
194′′ ��� ��
����� ������(� ����
 ��
�� 6! ����� ���
�� ���� ��� ����� 
	 3.83′′

����� ������� 	�
� ��� 
��������
�� 0&�� 172� �� ��� 
���� ����� 
�� 
���

4m

Me
>

πm

M
�6!�

	
� ��� ��� ������� �� ��� %
��� %(����� ���� ����� ���� �	 ��� ������ 
	 ��� � !�
�� �
� �
�������� ���� ��� 
��������
�� �� ��� %
��� %(���� ���
 ��� ������ 
	 ���
���� ����
� �� �
�������� ���� ��� 
��������
�� �� ��� %
��� %(����

����� 
�� �
�$��� ��� ������ �� 0&�2 ����� ��"������( 	�
� � �
�
�������

�
������
� ����� �� 
���� ���� &7! (����� ��� ���� ��
���� 
	 ��� *���
����
	�����
�8 ����� �
������ ��� ��
���
�� ���� 
	 ��� ��������
� 
	 ��� ��������
�

&&



�� ������	 �
��� �	 ��� �
� ��	���� �� � 
�	���� ��	����� �
� 
��� �
����� ���

��������� �
����� �	 �
�� 	��
 � 
�	��� �	 ��� ��
���

� �������	�� 
��

��

�
� 
����� 
�	��� �� ���� 	
���� �
��� ����
�
� �� � ������ �� ���
 �� ���
	� �
�
�
���		��� �� ������	! �
���	 �"�	�	 �� ��������� �
����� �� ���	 ��

����� �����#�	
�
� 	�������� ���
��� ���������� �
� ��		 �� �
� ������� $� �
� ��
�
 
����
�
� �
������� ��������� 
�	��� ��	 ��� ��
�� ���
 
�	���� �� �
� ��	�
��������
�����	� ��	���� �� ��	� ������������� �� ���� ����
����� ���
 �
� ��	�
��������
����� �� �
� �
���		��� �� %�
��
�!	 �
���� �� �
�	 ��� ����
 �
� 	��������

�	 ���� 
������#�� �� ��������� �
������ �
� 
�	��� 
�	 ���� �
��� ��	����
�
� �
���!	 �
���		��� ���	 ��� ����
 �
�� �
� 
���
���� �
��� �� �
� &�� �	
���
�"������ �	 ����� '"�� ���
 
�	���� �� �
� '"�� 	��
	� �� ����
	� ��	�����
�� �
� 
��� (���������) ���*���
���� 
���
���� �
��� �� �
� &�� ��� �� �	 ��� ��
�
� ���� +���� ���� �
��� �� ��������� �
��
�� �
� ��	����� �
��
 �	 �
�������
�� � ���� ������	 �� �
� 
���
���� �
��� �� �
��
 �
� ������ �� �
� ���� �	
�����#��� �
� '
	� 	��� 
�	 ���� 
�������� �
� 	������� �� �
� �
����� �
��

�����#�	 �
� ������!	 �
��� �	 � 
�
����� �	�������
� �
��� �� 
�	 ���� �����
�
�� �
� �
���		��� �	 ��� �� �
� �
��+���� �� �
� ���	�
������ �� �
� ,�������
�����
 �� �
� ���*���
���� 
���
���� �
��� �� �
� &��� �
�	 ���
���
 ����	 � �����
�� �
� 	��� �
��
 �� ��������� �� �
� 
�	��� �� ����� ��� ��
��
 �
�� �
�� ��� ���
����� ���
��� ���	�	����� ���
 �
� ��	�
�������� �����	� �� ��
�
 ��
�	� �
�
���� 
�	��� �� �
�	 ����
 �	 �
�� �� �	 ��� ��

��� �
�� ��������� �
��
� ������
�
����� �� ��������	 
��� �� �
���		��� �� ������	! �
���	� �
� 
��� �
����� �	
��	���� �
�� � ��
� ��������� �
�������� �	 ��� ��
�� �� �� ���	�	���� ���
 �
�
��	�
�������� �����	�

� ����������������

�
� -��
�
 �
��+	 .������� -����#���� ��
 	���������� ��	��		���	 �� �
�
��		������� �� 	���� �
� ��������	 
��� �� �
���		��� �� %�
��
� �� � ���������
�
�����
+�

����
�����

��� /� 0� 1�

��
� 2�����	 3����	 �� �!-���4��� ��	 	������	 ��� 567 (�897�
�� :
���
)�

�;� /� 0� 1�

��
� 2�����	 3����	 �� �!-���4��� ��	 &������	 ��� � 9� (�8�5�
�� :
���
)�

�5� &� �������� /����� &����	� �������� -������ $<��� -	�
�������� ����

�(�)� 5�5 (�88;)�

�;



��� �� �� ��	
�
�

� ��������� 	��
���

� ��
� �� ����
�� �
 �
����
�� ���
���
�

		� ����
� �������

��� ��� !""###�$������
�����
�%""∼&���'���"��()*+"�� 

	*+"�)�����&,� ��
��**+��

�(� -� .� /
	&�
0�%��� ��
 1 
&����
 ��� ++( ���2���

�2� �� /
�
�	��� ��� ���� �
� ������� ������ �
� ������ �
����
� �����
��� �
������� �
��
����� �����
�
��� ��� ���
������ ��� ��
������ �����$ 3�%	

��*����

��� 4� -'�	�
'�� 4����
� �

 ��5	', ������ 2(� ����(��

��� �� 1� ��
, 
�� ���� ��
 4	�
���$'&�� 6�%
���� ��	 �	�� ��� ��*�2��

��*� 4� 3� 7
�'%� /� .�8���
�� ��� �� .�
�9�:;'�
� ���
�� ��� 	����
�� 
�
 ������ !
����
�"� #
���� $�������

��� !
��������� �	 ! %&'(� �
�����

)��
�� *������� '(+',� %&'(� 	�
����
�"� ��*����

���� 7� �� <'��'�$	� ��� 	!""�		�&�8	�&���	��8��" ���
��
5"��&�	�

�"	%���&����$�
��*����

���� 7� �� <'��'�$	� ��� 	!""�		�&�8	�&���	��8��" ���
��
5"��&�	�

�" ��*����

��+� 7� �� <'��'�$	� ��� 	!""�		�&�8	�&���	��8��" ���
��
5"��&�	�

�" ���
�)��0�
)
��'����$�
��*����

���� �� ��
��� ��5	� 7�
, =�� 	�
 �**�+� ��*����

���� 7� 3��	
�� 6� 3�
���8� �� 4� �0

	� ��5	� �
�� /
��� ���� *(��*( ��*����

��(� 7� 3��	
�� 6� 3�
���8� �� 4� �0

	� >��� 6�%
� .��� ��5	� 7 ��� ���
����*�* ��*����

��2� .� �� �
'&
 ��� <� ?� �%	�� 4$� 6� ��5	� ������ �+� ���2���

���� �� >� ���	�&�'�� ��� @� A� 1'��8��B
� ��5	� �
�� 7 ��� �*2�*� ��**���

���� C� 1� 4�,'�	 ��� 6� .&7���
��� ��5	� �
�� 7 ��� *��**� ��**2��

��*� �� �� .�
�'�
B:5:��$

�� 3� �� �%�
B:D
 
B ��� 4� /� 1���	:E
'��� -%
�
6� ��5	� ��� 2� ����+��

���� 3� �� �%�
B:D
 
B ��� 4� /� 1���	:E
'��� -%
� 6� ��5	� ��� /+� ��***��

���� C� .%��B� 4$� 6� ��5	� ��� ���� ��**+��

��+� 6� �� <�

�

� ���� 6� ��5	� �	� �� ��**���

���� �� �� �F����
�� ��� A� 6�8��������� 4$� 6� ��5	� ��� ��+ ��**+��

���� 7� �� <'��'�$	� ��� 	!""�		�&�8	�&���	��8��" ���
��
5"��&�	�

�"�
�%	��&����$�

��(� 4� E'	#�	 ��� A� .��'� � 
� ��5	'&	 �� + ��**���

�+


